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연결 정점의수전체 정점의수

✓ 0≤ 𝑑 ≤ 1: 제동계수

✓ Γ𝐾 ∈ Γ: K에서인용한정점들의집합

✓ Γ𝑝 : p를인용한정점의개수
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A B

DC

E

열 𝐴𝑖를 𝐴𝑖 성분의합으로나눔
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A B

DC
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A

D

0 → 1 → 0 → 1

1 → 0 → 1 → 0
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𝐺 = 𝑑𝑆 + 1− 𝑑 𝐸

A B

DC

E
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• 𝑋𝑘+1 = 𝐺𝑋𝑘

• 초기값 𝑋0
1

𝑁

A B

DC

E

X2 = G𝑋1

X𝑘+1 = G𝑋𝑘

X ≈ GX
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* 원에속한점개수를전체점개수로나눈비율은 π/4를근사

B
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𝜋𝑣 =
𝑋𝑣
𝑛𝑅/𝜖

✓ 𝜋𝑣 : PageRank value for v node

✓ 𝑋𝑣: Total number of times that any of the stored
walk segments visit v

✓ 𝑛: Total number of network nodes

✓ 𝜖: Transmissionprobability (논문에서는0.2)

𝑋3 = 2

𝑋5 = 1
𝑋4 = 1

𝑋2 = 1
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𝑋3 = 2

𝑋5 = 1
𝑋4 = 1

𝑋2 = 1

𝑋2 = 3
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감사합니다


